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1. A Personal Computer uses a number of chips mounted on a circuit board called
(A) Microprocessor
(B) System Board
(C) Daughter Board
(D) Mother Board

2. The second most important source after fossil fuels contributing to India’s energy
needs is
(A) Solar energy
(B) Nuclear energy
(C) Hydropower
(D) Wind energy

3. Which of the following is not a measure of Human Development Index ?
(A) Literacy Rate
(B) Gross Enrolment
(C) Sex Ratio
(D) Life Expectancy

4. Given that in a code language, ‘645’means ‘day is warm’; ‘42’ means ‘warm spring’ and
‘634’ means ‘springis sunny’; which digit represents ‘sunny’ ?
(A) 3
(B) 2
(©4
(D)5

5. In the expression ‘Nothing is larger than itself” the relation ‘is larger than’ is
(A) Antisymmetric
(B) Asymmetrical
(C) Intransitive

(D)Irreflexive.



6. If the proposition “All men are notmortal” is true then which of the following inferences is
correct ? Choose from the code given below :
1. “All men are mortal” is true.
2. “Some men are mortal” is false.
3. “No men are mortal” is doubtful.
4. “All men are mortal” is false.
Code :
(A)1,2and 3
(B) 2,3 and 4
(C)1,3and 4
(D)1and3

The total electricity generation in a country is 97 GW. The contribution of various energy
sources is indicated in percentage terms in the Pie Chart given below ;
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7 . What is the contribution of wind and solar power in absolute terms in the electricity
generation ?
(A) 6.79 GW
(B) 19.4 GW
(©)9.7GW
(D) 29.1 GW
8. What is the contribution of renewable energy sources in absolute terms in the electricity

generation ?



(A) 29.1 GW
(B) 26.19 GW
(C) 67.9 GW
(D) 97 GW

9. Internet explorer is a type of
(A) Operating System
(B) Compiler
(C) Browser
(D) IP address

10. Which of the following is nota renewable natural resource ?
(A) Clean air
(B) Fertile soil
(C) Fresh water
(D) Salt

11. S and P waves are associated with
(A) Floods
(B) Wind energy
(C) Earthquakes
(D) Tidal energy

12. The research that aims at immediate application is

(A) Action Research

(B) Empirical Research
(C) Conceptual Research
(D) Fundamental Research

13 . Research ethics do not include
(A) Honesty
(B) Subjectivity
(C) Integrity
(D) Objectivity



14. The price of petrol increases by 25%. By what percentage must a customer reduce
the consumption so that the earlier bill on the petrol does not alter ?
(A) 20%
(B) 25%
(C) 30%
(D) 33.33%
15. We use the Factotial Analysis
A) To know the relationship between two variables
B) To test the Hypothesis
C) To know difference between two variables

D) To know difference among many variables

16. Which is not 24 Hours news channel
A) NDTV 24*7
B) ZEE News
C) AajTak
D) Lok sabha Channel

18. Insert the missing number in the following
3,8, 18,23, 33,7,48
A) 37
B) 40
C) 38
D) 45

19. When the Government of India implement “The Human Rights Act”?
A) 2005
B) 2003
C) 1993
D) 1994



20 The file extension of MS-Word document in office 2007 is
A) .pdf
B) .doc
C) .docx
D) .txt

ROUGH WORK



